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1| MR REZED 1-2 0-3 1-2 0-3 4
2 KC'S 2-1 1-2 0-3 1-2 3
3 F—LRSTY 3-0 2-1 0-3 2-1 2
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1 HIROS 2-1 3-0 3-0 3-0 1
2 Fav/i—XA 1-2 2-1 2-1 2-1 2
3 INRT YR 0-3 1-2 2-1 1-2 3
4 TEAM OSHIN 0-3 1-2 1-2 0-3 4
B F—L% 1 2 3 f B B £z
1 inty+ 1-2 0-3 0-2 3
2 WIFERE 2-1 1-2 1-1 2
3 FhER 3-0 2-1 2-0 1
C F—L% 1 2 3 fgs B JIE iz
1 A L=BEE 1-2 3-0 1-1 2
2 NBTC 2-1 3-0 2-0 1
3 GJTF=RY5T 0-3 0-3 0-2 3
D F—L% 1 2 3 4 f B B £z
1 HxITHEF = 2-1 2-1 3-0 3-0 1
2 [9q—oxToF—-A 1-2 3-0 3-0 2-1 2
3 Fa3v/\—XB 1-2 0-3 1-2 0-3 4
4 A—05 0-3 0-3 2-1 1-2 3
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